Uy 2 (2 (med 28)

(

Ux = [R + m_,mwxﬁ
G =312
QVA — W m_\SOQm ﬂlv
>4\r|\.\\|/
18, =% 319,14, 24, 81,389 ..o -
¥ Rﬁw&umﬁﬁi@u

\.\h\oQ‘ﬂ 28



%u 15 - 26
( = 30— 64S

T =4
5 — (206 — by5
F45 — 306 .

b5 7 -2.30¢ U

127
) g.m%wwawwwepu&
w@m = QQWWME o woﬁm@@
- i

= A5t
S IS (763-657)
(7 — (5-763

e
7
/)



L\.\Jm @&hmﬁ Ev ﬂ H qv\ﬁ@\ﬂ ?%w:?& WQZ T~ CANCE)
RT6 BI& WARNING - NEVER DIVIPE

M oolu ler o~ Hy ,\Snlﬂsﬂ.\ﬂlr

mﬁ%?
Gy =2 (mod R6)  4fb=14=12 (ame
/@an_m + 4320 MAM}_N (mod 26)
@ 2x = b+ L£-13
Q = (6 (mod |3)

oK =
5 QS@QA Wv Nw;ow W\ 294 42, .-

]



